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PRACTICE QUESTIONS
CLASS VIII: CHAPTER - 1
RATIONAL NUMBERS

Find §+(—6 +(—8)+i
77 \11) "\ 21) 22

—4 | -14
Find X s X ) x()

5 7 16 U 9

Find using distributive property: (i) %x[é)

Find =x - ——2 x>
57 14 75

. .. —4 3 15 (-14
Simplify: X — X — X (
5 7 16 9

6 —7
Multiply — by the reciprocal of —.
ply 13 y CIp 16

What number should be added to % to get % ?

What number should be subtracted from 3 to get —27

S

8 1
[s — the multiplicative reciprocal of —1—7? Why or why not?

9 8

[s 0.3 the multiplicative reciprocal of 3l ? Why or why not?

3

Write any 3 rational numbers between —2 and 0.

Find any ten rational numbers between _?Sand %

: : | |
Find three rational numbers between —and —

| 1
Find ten rational numbers between Zar:d 5

Represent these numbers on the number line. (f)z(ff)——s(fﬁ)i(ﬁ/')g

4 6 7 4
7 _5 _
Represent TR l?’ 1? on the number line

Find five rational numbers between. (f)gand i(.",3')_—3andE(.‘;’E)lﬁf.i*iafl

3 5 2 3 4 2
Write five rational numbers greater than —2

: . 3 3
Find ten rational numbers between —and —.

5 4
Write.
(1) The rational number that does not have a reciprocal.
(11) The rational numbers that are equal to their reciprocals.
(1) The rational number that 1s equal to 1ts negative.

9 3

“ {7 5} “{9 4} {
> +<{ —X (i1) X +
5 12 16 12

X
16 9

|



MCQ WORKSHEET-II

CLASS VIII: CHAPTER - 2
LINEAR EQUATION IN ONE VARIABLE

1. Solve: 7x -9=12

(a) 2 (b) -2 (c) 3 (d) none of these
2. Find the solution of 2x +3 =7
(a) 2 (b) -2 (c) 3 (d) none of these
3. Solve: 8x =20 + 3x
(a) 4 (b) —4 (c) 2 (d) none of these
4. Solve: EJHI:Z
3 3
(a) 2 (b) -2 (c) 3 (d) none of these
5. Solve: ~+2>=x—7
4 6
(a) 12 (b) —12 (c) 3 (d) none of these
6. Find the solution of %+ = 1
2x+1 3
(a) 2 (b) -2 (c) 3 (d) none of these

7. Find the solution of *¥+0 + X3 _ Sx—-4

4 5 8
(a) 8 (b) -8 (c) 4 (d) none of these
8. Solve: 8x + 3= 27
(a) 3 (b) -3 (c) 2 (d) none of these
9. Solve: 5x —7=2x+8
(@) S (b) -9 ©) 35 (d) 9
10. The perimeter of a rectangle 1s 13 cm and its width 1s 2% cm. Find its length in cm.
(a) 3 E (b) -3 E (c) 2 E (d) none of these
4 4 4 “

11. Bansi has 3 times as many two-rupee coins as he has five-rupee coins. If he has mn all a sum of
Rs 77, how many coins of each denomination does he have?
(a) 7,21 (b)3,9 (c)6, 18 (d) 5, 15

12. The sum of three consecutive multiples of 11 1s 363. Find these multiples.
(a) 117, 121, 125 (b) 110, 121, 132 (c) 110,99, 154 (d) 154, 88, 121



MCQ WORKSHEE T-|
CLASS VIII: CHAPTER - 3

UNDERSTANDING QUADRILATERALS

1. A smmple closed curve made up of only 1s called a polygon .
(a)curves (b) line segments (¢) lines (d) closed curves

2. A polygon with minimum number of sides 1s
(a) Pentagon (b) Square (c) triangle (d) angle

3. Polygons that have no portions of their diagonals 1n their exteriors are called
(a) Squares (b) triangles (¢) convex (d) concave

4. Polygons that have any portions of their diagonals in their exteriors are called
(a) Squares (b) triangles (¢) convex (d) concave

S. Allthe sides of a regular polygon are .
(a) Parallel (b) equal in length (c) not parallel (d) not equal

6. Allthe angles of aregular polygon are of .
(a) 90° (b) 60" (¢c) equal measure (d) equal length

7. Sum of all interior angles of a polygon with (n) sides is given by
@) (n—-2 )x180° (b)n-2 x 180" (c)(n+2)x180° (d) n+2x180"

8. Maximum number of right angles in a right angled triangle are

(a) 2 (b) 1 (c) 3 (d) 0

9. Sum of all interior angles of a parallelogram 1s
(a) 180° (b) 360° (c) 540° (d) 240°

10. The angle sum of all interior angles of a convex polygon of sides 7 is
(a) 180° (b) 540° (¢) 630° (d) 900"

11. Each exterior angle of aregular hexagon i1s of measure |
(a) 120° (b) 80° (¢)100° (d) 60°

12. The number of sides ina regular polygon is 15, then measure of each exterior angle is
(a) 24° (b) 36° (¢)20° (d)18°

13. How many diagonals does have n a convex quadrilateral?
(a) 2 (b) 1 (c) 3 (d) none of these

14. How many diagonals does have n a regular hexagon?
(a) 2 (b) 1 (c) 3 (d) none of these

15. How many diagonals does have in a traingle?
(a) 2 (b) 1 (c) O (d) none of these



CLASS VIII: CHAPTER -3
UNDERSTANDING QUADRILATERALS

. How many diagonals does each of the following have?

(a) A convex quadrilateral (b) A regular hexagon (c¢) A triangle

. What 1s the sum of the measures of the angles of a convex quadrilateral? Will this property hold

if the quadrilateral 1s not convex? (Make a non-convex quadrilateral and try!)

. What is a regular polygon? State the name of a regular polygon of (1) 3 sides (1) 4 sides (1i1) 6

. Find the angle measure x m the figures.

sides
Find the angle measure x in the figures.

30°

. Find the angle measure x in the figures.

70° 60°

. Find the angle measure x in the figures.

. Find the angle measure x in the figures.

. Find the angle measure x m the figures.




